Warm up - 5.6.notebook January 08, 2016

CHALLENGE ACCEPTED

% Take t 1allenge

A

1.  4(5x*-2x+3)-52x*-3)+3(7x+2)-(4x-1)

2. (7ab - 3b)(-4b) — -4, (7&)"35)

3. 81x2y2 - 9xy + 36x?2y
Oxy

4. (12x%y -30y* + 15y) =(3y)
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1. (5x2-2x+3)-5@3)+®)-(4x-1
=20x% - 8x +12 -10x> +15 + 21x + 6 - 4x +1

Qo8 121015 219 6Canket

= 10x* + 9x +34
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2. (7ab - 3b )(-4b)

= -28ab> + 12b>

~t6 (Tap-3)
~Ball® + R
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3. 81x2y2 - 9xy + 36x?2y
Oxy

81x2y2 - 9xy + 36x2y
Oxy 9xy 9xy

= Oxy -1 +4x
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4. (12x%y -30y* +15y) =(3y)

= 12x°y -30y* +15y
3y 3y 3y

= 4x*-10y+5



Warm up - 5.6.notebook January 08, 2016

Find the Area and Perimeter:

4y 2L 653,63
_ﬂud ':L}"Xag +|0)(9‘ +(O\Ag~ %

QX%‘ (5\2(_94_313.1) 'a(&»@%) - QCS)@+ \((\;_)

=1 ) 3
Oty roy? Y 0@ vy



Warm up - 5.6.notebook January 08, 2016



	Page 1: Feb 16-3:18 PM
	Page 2: Feb 16-3:34 PM
	Page 3: Feb 16-3:34 PM
	Page 4: Feb 16-3:35 PM
	Page 5: Feb 16-3:35 PM
	Page 6: Feb 16-3:51 PM
	Page 7: Jan 6-12:51 PM

